


B A B S b

- s |
] ;= 1B H IR
(ARG E= 8

3
>

nml

p
il

T %

C A QY

b



mEE N

AP B REREAMYE . ARV WM MMREIERN, 3008 10 MR
7, BARITHGSIGREEIT. . iEEM. BENEE 5 NS
oo, RS WE T AEFRREE, RN R SR
BRI ADRIE, ROBIRATCKEI: SiERE S MBSk,

AFBEA 0 R & SRR AR BM, AR A A R ) 9EE
HmaESEH.

BHEEMEE CIP) ¥R
SCHIFOEHIE S G HREVIER - B oMVER RS, —dba: BlEEdigat,
2006

(RZERIGETHE
ISBN 7-03-016023-1

I8 ILES 1L OFE-HESE-REER-BFE2E R
QFE-BE-mEER-HESERR V. H3I

R A E 518 CIP BT (2005) 3 085565 5

FiEgit:. £ F E84E/ AR B 3z
Frieepdl: SARK Haikih: CRAE

kB E
St RSB 16 5
MEERTG: 100717
http://www.sciencep.com
SASLNEARLA EIR
BEEHBRARAT  RHFENES

*

2006E 2HE — W FFA: 787X1092 1/16
2006 £ 2 B — KENRY ENgk: 93/4
EN¥: 1—3 000 FH: 216 000

Effr: 45.00 T (H=H
(WHEEREEE, BEAFREEFHE)
WEERIE 010-62136131  Z3EHeEE 010-62138978-8208 (VE09)



WA
p i

&
0
B’RA

EREMEELAEMREE

REE

(A KEE A F)

E OB M & XHE
RER R K &
&% KRS B 4

FHESA

B & 4

B iR
(AHKES A F)
Kt XIEBE IEH

pli
p

~

REH REH
IR B
HIET EHFR

=
Al



PR 25 K7 BN 23— R R FBAR N A B AL H Bbr. 4 NRILHEHF H 2000

FMAH (RRRETEFIGERBHFLEAZER D) AR T EERE
RBEHEERR: “4id 180~220 MBS, H¥AERE—ERIEEMMIANERE, B
HEHWr. . 3. 5. BEAET, I REME B A S BB A R LS R,
WHNZ B H 1SS AL % o BEAT R B O SKRI BT, HAS R — PR EE N
BRAESIIT THAl. ” BN BF IR EUE “STHNE, BRHNE” WEN, “SRRTHES
BEALNEFFE T NI E: RIAE S BB RE M VI SRR IR L b5 NS PR iE 3 H0
EENAHRIFE” EFSUREEZIEMIRNFEIR, N&EEEKEE LS HES K
e, BEMBRLE. AFPRRE”. K TIRRRE S FEREZHENMII%. BFE, &
MAERFEER IR T (EHIGEERE) RIEH.

SGENRIGE -2 MARE URFTLERERN (CHIGEHE) GEXEE M X
&I, BTRTFASEREIIS, ERA . AEFEREEESEMARESHEE. &
FHG S MAEEAYE RN R RN, AT R, 3550 10 MeT,
MRTHGI BRI, EE. HRER. BIFENSHE 5 NS Kb, ACEMMET
RPN, REAR S AT SR BRI IGEE, RAROA K
R GEER®RS MBS,

FEHREEHREFRE, HEREMEER, Bl BEMERIER, DR,
KW, X BBRERE.

FEGETRIIGH =M, A BERAFHME S, EM 15.00 5T.

FEEMAREREZHEHFTAERUSNERE SHNALTHITH, HOEHES
BB EREBENRENRE. EREIET, RBELSNEFINMNABAT T RKOLHF
FHRHTERBW, RMNEKAMBNRAZEONESE. BTHESR, BPiREmEst,
BE & BERUM AR PR IE .

lié}ﬂ(ﬁﬂﬁﬁ)ﬁﬁ%ﬁ@%%ﬁﬁ%i%ﬁ&%ﬁ,Euﬁ%ﬁﬂiﬁ\%ﬂ\



UNLIE Dottt ee oo oo oo 1
UNLE 2 sttt eeee oo 13
UNLLE 3 ettt et e oo oo 25
UNLE 4 et e oo e oo oo eoeeeeeeeeeo oo 38
U I S e eesmt ettt e oo oo 51
UNIE 6 st oo e et ee oo 65
UDNLE 7 st 79
UTLIE 8 ettt et ee oo oo oo 92
UNLIE G st oot e oo 105
UNIE L0ttt ee oo 116



A 4

L. Fill in the blanks with the words given below. Change the form if necessary.

consist in attend range from evaluate

ensure . regardless of now that passion

custom mature available compensate for

concrete concerning reward develop a firm grasp of

consistent with affect in one’s opinion arm sb. with sth.

1. The mountain east to west.

2. He wants to make their products ____ to a wider market.

3. Smoking _____ health.

4. The movie star refused to answer questions his private life.

5. She believes that happiness being easily pleased or satisfied.

6. The girl is her appearance.

7. To one’s teaching level is quite complicated.

8. She went back to check the lock again to it is locked.

9. ____ you’ve been working at this school, you’d better put your heart into it.

10. He teaches his student with such great ____that all of them love his classes.

11. Since you’ve grown up, you should be ____ for your age.

12. Nothing can losing her lovely daughter.

13. There is some evidence of his taking bribe.

14. It is to drive such kind of luxury cars in today’s wedding ceremony.

15. A pension of § 2500 a year is not much of a_____for a lifetime’s service.
II. Vocabulary and Structure

1. The number of the students in that school ___ greatly increased in recent years.

A. have B. has C.is D. are
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2. Medical help and care free of charge in that country.

A.is B. are C. were D. has
3. Many a student __.____ pop music.

A. enjoy B. enjoying C. enjoyed D. enjoys
4. The injured taken to hospital.

A. have B. has been C. have been D. has
5. He who the last laughs the best.

A. laugh B. is laughing C. langhed D. laughs
6. Neither of the stories interesting.

A.is B. are C. write D. writes
7. The police ______ for the murderer.

A. search B. is searching C. are searching D. searched

8. Every man and woman the meeting.

A. attend B. attends C. have attended D. are attending
9. A great deal of our time _______ on this experiment.
A. spend B. spent C. spends D. was spent
10. She as well as the other students how to type.
A. have learned B. learns C. leamn D. has learned
11. Three years in a strange land ______like a long time.
A. seem B. seems C. to seem D. seeming
12. Not only his children but also he himself to go there.
A. wants B. want C. to want D. wanting
13. Here the three naughty boys from next door.
A. come B. comes C. has come D. had come
14. Tom and Jack were playing basketball on the playground. The restofus ______ at work.
A. were B. are C.is D. was
15. He is one of the greatest presidents who ever ______lived.
A. has B. have C. having D. are have
16. Many people complain of the rapid of modern life.
A. rate B. speed C. pace D. growth
17. American women were _______ the right to vote until 1920 after many years of hard

struggle.
A. ignored B. neglected C. refused D. denied
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18. The
A. late

19. This muitiple choice test

edition of the dictionary is far better than the previous ones.
B. last D. latest

C. lasting
40 incomplete statements with several choices to
complete them.
D. sets out

A. is composed of B. consist in C makes up

20. “I have a toothache worse than ever.” “You
A. should go

to the dentist earlier, Lucy”.

B. should have gone C. had to go D. must have gone

11T Cloze

No one really knows when many of our expressions became popular. But _1

can be

easily dated. One such expression is A-Okay. It means the _2 s fine; there is no cause for

worry.

A-Okay is a space-age expression. It was used in 1961 during the _3__ of an American
astronaut. John Powers, a spokesman _4  NASA, the national space agency, _5_ “A-Okay”
to tell the world that everything _6  the space flight was operating perfectly.

Some experts say the expression did not begin with the space age. One _7 _is that it was

first used during the early days of the telephone, _8

an operator that his message _9 . The
sound of the O in Okay often was lost in the noise _10_ . So the sharper sounding “A” was
_11  to the expression, making a more easily understood “A-Okay”.

“A-Okay” is one of several _12 that may have come into the _13_ earlier but became
popular only when they were used in the space _14 . These expressions quickly became part

of everyday speech. This happened _15 most people had television, and could see and hear

all the major events of a space flight. People spent hours watching special TV reports of every
space flight.

1. A. the other B. none C. others D. anything

2. A. situation B. condition C. expression D. surrounding

3. A fight B. flight C. launching D. period

4. A to B. for C.of D. about

5. A. used B. using C.touse D. has used

6. A.in B. that C. for D. on

7. A. thing B. matter C. story D. reason

8. A. telling B. told C. to tell D. remind

9. A. has beenreceived B. had been received  C. had received  D. has received

10. A. in the sky B. on the telephone line C. in space D. by the way ‘
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11. A. used B. copied C. followed D. added
12. A. stories B. flights C. expressions D. messages
13. A. language B. use C. dialogue D. conversation
14. A. flight B. above C. program D. shuttle
15. A. to B. because C.asif D. as well as

1V. Reading Comprehension

MM.M_P:ssage A

1 hear many parents complaining that their teenage children are rebelling. 1 wish it were
so. At your age you ought to be growing away from your parents. You should be learning to
stand on your own two feet. But take a good look at the present rebellion. It seems that
teenagers are all taking the same way of showing that they disagree with their parents. Instead
of striking out boldly on their own, most of them are clutching at one another's hands for
reassurance.

They claim they want to dress as they please. But they all wear the same clothes. They set
off in new directions in music. But somehow they all end up huddled round listening to the
same record, their son for thinking or acting in thus and such a way is that the crowd is doing
it. They have come out of their cocoon -- into a larger cocoon.

It has become harder and harder for a teenager to stand up against the popularity wave

and to go his or her own way. Industry has firmly carved out a teenage market. These days

every teenager can learn from the advertisements what a teenager should have and be. And
many of today’s parents have come to award high marks for the popularity of their children.
All this adds up to a great barrier for the teenager who wants to find his or her own path.

But the barrier is worth climbing over. The path is worth following. You may want to
listen to classical music instead of going to a party. You may want to collect rocks when

everyone else is collecting records. You may have some thoughts that you don' t dare to share

at once with your classmates. Well, go to it. Find yourself. Be yourself. Popularity will come
with the people who respect you for who you are. That's the only kind of popularity that really
counts.

Judge whether the following statements are True (T) or False (F) according to the

passage?
() 1. The author’s purpose in writing this passage is to tell teenagers how to learn to
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decide things for themselves.
() 2. According to the author, many teenagers think they are brave enough to act on
their own, but in fact, most of them lack confidence.
) 3. There is no popularity that really counts.
) 4. The author thinks of advertisements as authoritative.
) 5. During the teenage years, one should learn to find one's real self.
) 6. The author wishes to the parents to complain their teenage children.
) 7. The teenager should not do as their parents want.
) 8. They wear the clothes because they lack self-confidence.

) 9. There is a great barrier for the teenager who wants to find his or her own path.

NN NN A AN NN

) 10. Find or be yourself is the way to climb over the barrier of the popularity.

Choices 11 to 40 are based on the following passages:

Robots do make mistakes sometimes. But they are not responsible for the mistakes. In
one automobile factory, for example, the doors on more than 1,000 cars were welded shut. A
human had given thé robot’s computer brain the wrong instructions. When robots get the
correct instructions, their work is good and fast. A company in Florida, for example, uses
robots to build small communicating devices. The robots put about 130 tiny electronic pieces

into each device. The factory can produce a device just two hours after it receives a request for

one. The company says it would take almost one month to produce a device in a normal
factory with human workers.

What is the future of robots? The goal of scientists is to create a true human-like robot.
Some experts have described this robot of the future as one that can act independently with the

physical world through its own senses and actions. Humans have the ability to see, hear, speak -

and solve problems. Engineers have build robots that have one or two of these abilities. But it
takes a number of big costly computers to make the robots work.

The biggest problem in creating a human-like robot is copying human intelligence. The
way the human mind works is almost impossible to copy. A simple computer can do
mathematical problems far beyond the ability of even the smartest human mind. But the ‘

human mind is better than a thousand supercomputers at speaking, hearing and
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problem-solving. Several American and Japanese companies are working to develop the
senses of sight and touch for robots. The development of these senses will make robots much
more useful.

However, the most important human ability—and . the most difficult to copy — is
problem-solving. An intelligent robot must be able to change the way it acts when it faces an
unexpected situation. Humans do it all the time. Computers must do it for robots. This means
computers must have a huge base of information about many things. They must be able to find
the information in their systems quickly. And they must make choices about how to act. So far,
this is beyond the ability of computers.

Will it always be so? Probably not. Computers have improved at an unbelievable speed.
In 20 years, computers have become 1 000 times more powerful. Scientists expect this rapid
improvement to continue. Computers of the future will have the power to operate more

human-like robots.

11. The robots in use now can do many jobs
A. independently through its own senses and actions
B. according te the instructions from human workers
C. according to the instructions from computer brain
D. according to the instructions from commugicating device
12. A human-like robot developed has the ability .
A. to speak and hear B. to see and feel
C. to solve problems D. the passage doesn’t say
13. A smartest human mind can do mathematical problems than a simple computer
A. much slower B. much faster
C. a little faster D. a little slower
14. We can infer from the passage
A. an intelligent robot will replace human workers in the future
B. an intelligent robot cannot replace human workers in the future
C. an intelligent robot can do their work good .and fast without any mistakes in the
future
D. none of them
15. The author’s attitude toward the future robotsis

A. cautious B. pessimistic
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C. optimistic D. doubtful
16. Robots make mistakes.
A. never B. seldom C. sometimes D. frequently

17. Whether the robots’ work is good or bad dependson
A. themselves B. the instructions given by the human
C. communicating devices D. human workers
18. A human-like robot can
A. copy human intelligence
B. not work like human mind works
C. see, hear, speak and solve the problem
D. be cheap to make
19. An intelligent robot must
A. be changeable
B. face the unexpected situation
C. have the ability to change when it faces an unexpected situation
D. make choices about how to act
20. With the improvement of the computer, the future robots will
A. act like human workers
B. replace human workers
C. have the power to operate more like humans

D. have become powerful

l Passage C

More than half of the world’s fish are caught or bred in Asian waters and slightly more

than half are consumed in the region. Six of the top-10 fishing countries are Asian: China

takes one of the world’s biggest catch; Thailand is the world’ s biggest fish seller, and Japan is

the world’s biggest fish buyer.
These three, together with India and South Korea, dominate Asia’s fishing fleet, the
world’s largest. That fleet is contributing in no small way to the draining of global fish stocks,

which have shrunk since the early 1990s because of over fishing and pollution. The Food and

Agriculture Organization warns that 69 per cent of the world’s fishery resources are fully _

exploited or seriously depleted.



The implications go far beyond fewer sardines in the tin. Globally, fishing provides a
living for about 100 million fishermen and their families. They’re among the 1 billion people—
nearly a fifth of the global population—for whom fish is the main source of animal protein; in
Asia, fish provides almost a third of daily animal protein needs. Fishing supports more
livelihoods and fish sustains more diets in Asia than in any other region of the world. It’s no

surprise then that competition scarce resources is leading to clashes between neighbors as
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fishing fleets stray across maritime borders after draining stocks in their own waters.

21.

22.

23.

24.

25.

26.

27.

Which of the following may be the best title of the passage?
A. Fishing in Asia.

B. Fisheries Face Big Problems.

C. Top Fishing Countries in the World.

D. The Role of Fishing.

Which of the following is NOT true according to the passage?

A. China is the world’s biggest fish catcher.

B. Thailand is the world’s biggest fish seller.

C. Over 50 % of the world’s fish is consumed in Asia.

D. South Korea is one of the countries that dominate the world’s largest fishing fleet.

top fish countries are mentioned in the passage.

A. Ten B. Six

C. Five D. Three

The last word of Para. 2 “depleted” may probably mean

A. lessened greatly in quantity B. lessened greatly

C. damaged greatly D. ruined greatly

The potential problem caused by shrinking fisheryis

A. decreasing of fish stocks B. unemployment

C. confliction among neighbor countries D. shortage of animal protein needs

The author’s attitude towards the fishery is

A. cautious B. pessimistic

C. optimistic D. doubtful

The world’s fishery resources are

A. over exploited B. rich

C. poor D. seriously polluted
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28. There will be the confliction among neighbor countries because
A. they compete with each other
B. they want more fishing support
C. fish provides almost a third of daily animal protein needs
D. They are draining the fishing resources
29. More than half of the world’s fishare ;
A. in China B. in Thailand
C. in Japan ‘ D. in Asian countries
30. The fishery resources are seriously depleted mainly because
A. fishing provides a living for about 100 million fishermen and their families
B. fish provides almost a third daily animal protein needs in Asia
C. Fishing supports more livelihoods and fish sustains more diet in Asia than in any
other region of the world
D. All of the above '

| I 7PassageD

Young people in the early 1980s are taking on a set of attitudes and values remarkably
different from those of the stormy 60’s and 70’s. Instead of anti-establishment outbursts,
today’s younger generation has turned more thoughtful and more serious. There is heightened
concern for the future of the country and a yearning for the traditions and support systems that
gave comfort in the past. Many young men and women of high-school and college age are
having second thoughts about the “new morality” and condemn what a soaring divorce rate
has done to families. They speak openly of gaining strength from religion. Patriotism, too,
seems to be making a modest comeback.

One change in the early 1980s is a questioning of the permissive moral climate of recent
years. More young people, while hesitant to preach or to condemn their peers, cite the
destructive effects of the drugs and alcohol that are so widely available in the schools. It is:
peer pressure that pushes teenagers into drugs, but now the habit often is dropped after high
school, according to Debbie Bishop, a 22-year-old secretary. James Elrod, a college junior in
Kentucky, also reports that use of marijuana on campus has lessened. A Cornell University

law student reflects the views of many with the comment: “I think that drug abuse is harmful




Unit 1 g:‘
s —=—
to your own health and those around you.” But he adds: “Drinking is-fine only as long as it’s
not done to excess.”

With the added pressures of a more uncertain world, most young people stress the
importance of a healthy family life. Yet, as they look at the family’s bredkup that has taken
place in the past decade, they concede that the challenge for many is to make the best of
one-parent families. “The American family is evolving and changing” ,according to Nina
Mule, “Women are going out into the world and having careers. They’re becoming more
independent instead of being the burden of the family”. “But a great need remains for a family
structure”, says Nina, who still lives with her parents, “because people have to be able to
survive emotionally”. In Atlanta, 18-year-old Liss Jeiner feels strongly about what’s happened
to the family. “People have realized that the family has disintegrated,” she says, “But today’s
family— particularly the black family—is trying to pull itself together and become the strong
unit as it once was.” A senior at Brigham Young University expresses a similar view: “A
happy family means everything to me. I read a lot about how the American family is falling

apart. But I see lots of strong families around me, and that makes me very optimistic.”

31. According to the passage, which of the following statements in NOT true?
A. Young people of 60’s and 70’s held radical attitudes towards life.
B. Young people of the early 1980s begin to turn back to traditional values.
C. Young people of the early 1980s follow, the “new morality”.

D. There are anti—establishment occurrences in 60’s and 70’s.

32. How do teenagers begin to take drugs?
A. They want to conform to their fellows.
B. They want to be grown-up.
C. They are threatened into drugs.
D. None of the above.

33. Why do young people stress the importance of a healthy family life?

A. Because they want to live a comfortable life.
B. Because of the constantly added pressures of the outside world, emotional shelter.
C. Because they don’t want to make a living by themselves.

D. Because they prefer to live with their parents.

34. Which of the following statements is true?
A. Families break up because women are becoming more independent.
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B. People have realized that the family has disintegrated and they just passively let it
go.
C.The moral climate of 60’s and 70’s is very optimistic while that of 80’s is
permissive.
D. Marijuana, according to the context, is a kind of drugs.
35. Which do you think is the best title of the passage?
A. Young People in the U.S—A Turn Back to Traditional Values.
B. Youth on the Move.
C. American Moral Values.
D. Today’s American Young People.
36. What’s the main difference between young people in the early 1980s and those of the
60°’sand 70°s?
A. young people in the early 1980s are more fashionable.
B. young people of the 60’s and 70’s are crazy.
C. the young people of 60’s and 70’s outburst the anti-establishment.
D. their attitudes and values.
37. Why did the young people in the 1980s change their thoughts?
A. Because they love their country.
B. Because of the questioning of the permissive moral climate of recent years.
C. Because they hate the divorce.

D. Because they are all Christians.

38.What do the most of the today’s young people deal with the things about drugs or
alcohol?
A. they condemned their habits.
B. they preached their habits,
C. they cite the destructive effects of the drugs and alcohol.
D. they pushes the teenagers into drugs.

39. According to the passage, the bad habit of taking drugs has . *
A. dropped B. increased
C. completely changed D. eliminated

40.What does the happy family mean to today’s young people?

A. The most important thing. B. One-parent family.
C. A strong unit. D. Nothing.



